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Mathematics Department
CALCULUS FOR HEALTH SCIENCES — Math1431

Second Exam Time: 90 Minutes First Semester 2022 - 2023
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* Write your full name (In Arabic) and your number
* Choose your section from table below
* Tum off your mobile
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¢ Question One C(Atj)putnts) Circle the most correct answer:
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of the above,

(€) There is no horizontal langent.

7. The function f(x)
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Bsider the function A(x) = «#411° Assume that 8(2) =2 and ¢/(2) = ~3. Then
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i8 continuous af the point (a, f{a)), then it is differentiable there,
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. Question Two (10 points) Find the following limits:
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Question Three (7 points) Given the function f (x)

Uumg the definition of the
t derivative, find f"(2). (You will receive NO eredit for ﬁnding the derivative with rules),
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Question Four (12 painits) Find f(x) for the following functions

1 f(XJ = 13 5(-3x)
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(a) Find 2 by differentiating implicity y? 22+ 1 = 22 — 3x.
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(€) Airis being pumped into a spherical balloon at the rafe of 7 em? /sec.

‘What is the
rate of change of the radius at the instant the volume equals 367 cm>? The volume
of the sphere of radius r is V = “13

P em3[sec V = 261




